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PERCENT

On satisfactory completion of this learning packet, you should be able to
do correctly eight out of ten problems on a post-test covering the following
objectives.

1. Identify the whole as 100%.

2. Express a part of 100 as a ratio.

3. Change a fraction in hundredths to a percent and vice versa.

4. Rename a fraction to an equivalent fraction in hundrecths.

5. Determine the percent of a part of a figure.

6.' Write a decimal as a percent and vice versa.

7. MHrite a ratio of a part to the total.

8. Solve for a variéb]e part of a proportion.

9. Find a percent of a number using a proportion, e.g.,
25% of 66 is what number?

10. Find a number when the part and percent of the proportion
are known, e.g., 15% of what number is 12?

11. Find what percent one number is of another, e.g., what percent
of 50 is 307

12. Solve word problems involving percents.

13. Solve percent problems with percents greater than 100%.

14. Solve percent problems with percents less than 1%.




KEY WORDS

The key words used in this packet are listed below.
If you do not understand the key words, look them up
in the glossary before preceeding. ~

Percent

Fraction

Decimal

Ratio

Proportion
CrossAmultiplication

Equation




FRACTIONS MEAN PART OF A WHOLE

| | WHOLE % + % = 1
TOTAL
1 1
21 %.' + 11I + lli "1
\\ 4
PERCENTS MEAN PART OF A TOTAL 100%
100% m 50% + 508 = 100%

50%

so8 + 256 + 25¢ = 100%




P

In the circle below
25% i1s shaded.

What percent is not
shaded?

100% - 25% = 75%

In the square below
1/2 is shaded,

What percent is not
shaded?

1/2 = 50%
100% - 50% = 50%

5

o o ® o
[

each_flgure below what percent is not shaded?

In

1, 2.

4. 5.

?7.. 8.

10, 11.
:;i'

13, 14,

S\ e,

3.

9.

12,

15,

1.730%:




124 -+ 88% | 00%

|

234 4— 7 = 100% 414 + 7 = 1004

'PROBLEM SOLVING ¢

About 54% of all the automobiles in the world are
outside the United States, Wwhat percent of the

automobiles are in the United States?

1004 — 54% — 46%

l.muh In one store 47% of all the slacks are on sale,
wWwhat percent are not on sale?

2, In a shirt factory 10% of the shirts produced
have some mistakes in the stiching, What percent
do not have mistakes?

3. A store manager thought that ?0% of the people who
came in to his store bought eomething. What percent
did4 not buy anything?

i, In one town 37% of the population are under the
age of eighteen, What percent are over the age of
eighteen?

5. In a new travel bdook 47% of the pages have pictures and
104 of the pages have maps., All the other pages are
printed information, What percent of the pages are
printed information?
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Write a fraction for the percent, su{pnry if you can,

1,

o|a|e]el®]® {ole]*
olojvjejolo o] ]

16%

12%

99%

38%

»7%

100

2,

9.

10,

11,

12:

13,

3% =

76X
7%
20%

3%

66%

14,

15.

16,

1?7,

18,

3.

81 £ =

85%

‘15

81%

ho%

50%




R Prection | Hundredths | Percent
<1: 2 20
: a0 15 20 £
2 e 20
10 - 166
slejele slefofe . efefe o onn I
Ll - PR Aelelerel: = [
Praction | Hundredths | Percent Praction | Hundredths | Percent
I B
WRITE A PERCENT FOR EACH OF THE FRACTIONS:
1. lxs50.5.- 50% 2, 3,10 . _ %
2" 50 100 X110
3. 1 X 2—0 = —6.9 ‘- o 2
5720~ To0 - r “ $xBemwm - #
50 1 60 _1- 70 4 80 _3
L 25 25 10
9. 2 10, & 11, 1 12, 15
20 5 5 25
13‘ 3 140 __Z 150 _Q 16. _u
5 10 25 20




WRITE A PERCENT FOR EACH OF THE FRACTIONS:

FRACTION FRACTION AS HUNDRETHS PERCENT

50 50%
100

51 Bk | et | Bl Lo | ot

L andll I
- | \h

o | S

N
W

o

- | ok | ©

bo | SI2

o

Lot B
i~

. N
W




DECIMALS MEAN PART OF A TOTAL

DECIMALS CAN ALSO BE WRITTEN A8

;[..o.oooo.

3

meansa

3 out of 10

s |ofe]ole[e]=]e
o|oejajelws]eo|

27

100

PERCENTS

<D

% .

WRITE EACH OF THE FOLLOWING AS A PERCENT:

k2
1. [:5::}> Iaa— <<:§Z:]

3.

5

7.

9.

11,

0.23

0.15

0,06

0.89

0.01

0.54

2,

b,

10,
12,

14,

0,56
0.92
0.78
0,10

0.15

0.99

0,05

.30

30 out of 100




WRITE PERCENTS AS DECIMALS

Percents can be written as
decimals if we write them
ag fractions first,

B> g <G

COMPLETE THE TABLE BELOW:

PERCENT FRACTION DECIMAL
23
23% 100 0.23
65%
48%
17%

WRITE THE FOLLOWING PERCENTS AS DECIMALS:

13,

32%
92%
14%
68%
77%

2, 79%
5. 37%
8. 29%
11, 10%
14, 3%

3.
5.
9.
12,
1s.

56%
84%
6%
30%
1%




WRITE A RATIO

3 out of 5 [:::::> —g—

RENAME THE BRATIO IN HUNDREDTHS
3 20 60

X = —

5 20 100
CHANGE THE FRACTION TO PERCENT DECIMAL
60

oy > 6% [T > .60

COMPLETE THE FOLLOWING TABLE:

RATIO FRACTION FRACTION PERCENT | DECIMAL
IN HUNDRETHS
1.! 7 out of 10 _? 720 70% 0,70
10 100

2.1 7 out of 25

3.] 18 out of 20

<>

4, 3 out of 4

5.| 42 out of 50

6.| 4 out of 5

7.1 17 out of 29

8.| 23 out of 25

9.] 2 out of 5

10,| 3 out of 10

30 out of 50




USING RATIOS
Joe answered 18 out of 20 questions correctly.

18 out of 20 is the same ratio as 90 out of 100

COMPLETE THE FOLLOWING:

1. 12 out of 20 = _ out of 100  or %
2. 3out of 5= _  out of 100 or %
3. 7 out of 10 = __ out of 100 or %
4. 17 out of 25 = ____out of 100  or %
5. 37 out of 50 = out of 100 or %

FIND THE PERCENT FROM EACH OF THE FOLLOWING RATIOS:
1. Mike got 9 hits in 20 times at bat. What percent of hits?

2. Eight out of ten accidents are caused by carelessness.
What percent of accidents are caused by carelessness?

3. Seven out of fifty apples in one crate were damaged.
What percent of the apples were damaged?

4. About 4 out of 10 college students do not sell
their text books. What percent do not sell their
books?

SOME RATIOS ARE NOT WHOLE NUMBERS
1
9 7 out of 25 = 38 out of 100

COMPLETE THE FOLLOWING:
1
1. 8§ out of 20

.3
2. 3 10 out of 10

out of 100

out of 100

1
3. 2% out of ‘5

out of 100




RATIOS AND HUNDRETHS

WHICH MAN HAD THE BEST SCORE IN A TRAPSHOOTING PRACTICE?

ANDY MARK JERRY
7 out of 10 hits 13 out of 20 hits 19 out of 25 hits
X10 X X4
X0 BN 7N
7 70 13 s 19 76
10\\ ‘;?o 20 100 25 100
CHANGING RATIOS TO HUNDRETHS ALLOWS US TO COMPARE
CHANGE EACH OF THE FOLLOWING RATIOS TO HUNDRETHS:
S 2. 2.
I 100 25 100
3. 11 _ b, & _
20 ~ 190 5 100
5’ —Z—:-—.-— 6’ lz—:———
10 100 25 100
7. & - 8. 19 .
100 20 100
90 -2—-8-——— 100 ._.6__=—-—
25 100 10 100

WZ CAN CHECK A PROPORTION BY CROSS MULTIPLICATION

—

2= O
25 10

nX25 =9 X 100
25n = 900
n= 3

CHECK EACH OF THE TEN PROBLEMS ABOVE

Divide both sides by 25;:




SOLVING PROPORTIONS USING NUMBER SENTENCES OR EQUATIONS

some number n i
Exemple: - ——

12

CROSS MULTIPLICATION GIVES:

n 4 n times 6§ = 4 times 12
12 6 én = 48 (divide both sides by 6)
' ' n =38
SOLVE:
1, e = 4 2, b o _2
1 - Iz s
8k = 56 hs = 24
k= 7 s = 7
3. 3. = _X_ b, 2 =
5 15 r
59y = ? 3r= 2
y= ? r= 2

n L

6. _ = T
9 36
4 32

8. _—=
32 x
x

10, —_— o —
22 4y




PERCENTS GREATER THAN 100%

‘A college lecture room holds 100 students,
128 students come to a special movie,
There are 8 more students than the room

w111 hold.
100 28 . 128
100 © 00 io6  or 128%

EXAMPLES OF RATIO GREATER THAN ONE AND PERCENTS MORE THAN 100

8 . 120 1 . -

3 =150 OB 120% 24 = ¢ w5 = F

COMPLETEs

. 12 - ___ = % 2. 3l = . = %
5 160 ' - 2 100

3., 631 - ___ = % ko 175= ___ = &
50 00 100

5.0 %07= = % 6. 4i o gy o= %

WRITE EACH OF THE FOLLOWING AS A PERCENT:

7. i 8, 1 9. 3.95
5 T |
10. 1. 1 12,

Z 2 . 25

13.  3.04 1, 22 15, 2

25 7

16, 1 17, 7.48 18, 84

7 5
9. 53 20, 2% 21, 2,06




N

PERCENTS LESS THAN 1%

WHEN A PART OF SOMETHING IS VERY SMALL
COMPARED TO THE TOTAL, THE PART MAY RE
LE#S THAN 1 OUT OF 100,

EXAMPLE:

~IN A TOWN OF 2800 PEOPLE 14 WORK IN THE TOWN HALL,
WHAT PART OF 2800 IS 147
WHAT PERCENT OF 2800 1s 147

PART —> 14 n
TOTAL —> 2800 100
2800 n = 1400

n = ,§ OR %OFIS

EXAMPLES OF RATIO THAT GIVE PERCENTS LESS THAN 1%

COMPLETE EACH OF THE FOLLOWING:

£ 2,

Lo 6 = ® 1 = . = ’
! §T686‘ 'TEET 750 100
o= = l&. 2,‘ | -
> =f “Tov 2 $12- = 155 %
5, 6 _ )
> -7%%6 =100 ° £ 20000 ~ 100 %




~ PROPORTIONS
SOLYE 3 TYPES OF PERCENT PROBLEMS

PART of a quantity P‘ART of percsnt
TOTAL of the quantiey [ OTAL or 100%

TYPE 1

What pereent of 5 is 3?

Percent Q%%E{“:—g— = 1%5 . 5X7=3X 100

not known | : . .
sn = 300
n =60
Thus 3 is 60% of 5
TYPE 2

what numbdber is 60% of 57

) A P - 60 100 X n= X A0
‘ Part Tot.& ::’)-2_ b L) . ’
not tnom__"

100n = 300

n=93

3 18 60% of what number? '
Part ——bp - 50 60 X n= 13X 100
+ =R ’

Total |  Total —p

60n = 300

ne=§



']»‘YVPE ] (PERCENT NOT KNOWN )

~ PIVB STATES IN THE UNITED STATES
THREE EAST OF THE MISSISSIPPI I0WA
WO WEST OF THE MISSISSIPPI
3 OUT OF 5
EAST OF THE MISSISSIPPI

| IvD,
3 60 C

5 100 |
0% OF THE FIVE STATES ARE EAST OF THE MISSISSIPPI

What percent of 4 is 37

(What part of 4 is 3 OR 3 out of 4)

PART —>» 3 n 4n = 300

TOTAL —= &4 100

75

n

3 is 75% OF 4

WRITE A PROPORTICN AND SOLVE EACH OF THE FOLLOWING:

What percent of 32 is 8?
What percent of 48 is 127
Four is what part of 16?
What part of 24 is 62

Nine is what percent of 10?
What percent of 25 is 5?

." 8ix is what part of 207
What ﬁercent of 36 is 97

O 00 ~N & UL & LW N P

What part of 100 is 437



. PERCENT PROBLEMS

Write a proportion and solve each of the following:

1. Fifty people were on a bus.
At the first stop 7 got off.
What percent got off the bus?

2. Jane had 40 record albums.
Thirty of the albums were
country-western.

What percent were country-
western?

3. Larry worked 25 hours on his
part time job. He spent 20 hours
of the time talking to customers.
What percent did he spend with customers?

4. The total cost of a new car was $3600.
The down payment was to be $900.
What percent was the down payment?

5. One sunny day 40 out of the 48 bike
racks at the school were filled.
What: percent were filled?

6. Students selling tickets for a scheol
: organization made a profit of 40 cents
on each $2.50 ticket. What part of
the ticket cost was profit?

- 7. Rod bought 5 paper—béck books. Four
of the books were science-fiction.
What percent wére of that kind?




TYPE 2 (PART NOT KNOWN)

JANE'S JOB PAYS $182,50 EACH WEEK,
SHE SAVES 6% OF HER WEEKLY PAY,
HOW MUCH DOES SHE SAVE?

PART —% n - 67 B
TOTAL —> $182 50 100
THUS
100 n = 6 X $182,50
100 n = $1095,00
n = $10.95

WRITE A PROPORTION AND SCLVE EACH OF THE FOLLOWING:

1, 504 of 346 is what number?

2, 32% of 864 is what number?

3. What is 5% of 687

4, 25% of 1084 is what number?

5., 125% of 1084 is what number?

6. 7% of 92 is what number?

7. What is 19% of 70?

8., What is 33%% of 963 2

9. What is 0.5% (% of 1%) of 2407
10, - 14% of $175 is what amount?

11, What would be a 10% down payment on 31000?

12, 22%. tax on an income of $14,000 a year would be
- what amount of tax?




PERCENT PROBLEMS

Write a proporticn and solve each of the following:

Nancy and Jim are buying a stove on sale.
They are to get 15% off the price of $350.
How much will they save?

In a manufacturing plant the manager estimates
that 5% of the products produced might not

pass inspection. If in one week 2468 items

are prodaced, how many might not pass inspection?

It is estimated that 45% of the seniors that
graduated from Fulton High School last year
own a car. If 160 students graduated last
year, how many own cars?

Joe got 80% oh a test. If there were 75
questions on the test, how many did he get
right?

If the sales tax in Iowa were changed to 4%
instead of the present 3%, what would be the
sales tax on an item selling for $12.797

How much would you save on a $165 set of golf
clubs if you were to get a 35% discount?

Martin Luckeguy invested $250 on a new inven-
tion. He made a profit of 115% the first year.
How much did he make the first year?

In a chemical test 0.75% of a sample was copper.
How much copper was in the sample if its total
weight was 36 o0z2?




TYPE 5 (TOTAL NOT KNOWN)

A STAMP CLUB IS HAVING A MONTHLY MEETING:

FORTY EIGHT MEMBERS ARE PRESENT,

THAT IS 80% OF ALL THE MEMBERS:"

HOW MANY PEOPLE ARE IN THE STAMP CLUB?
80% of what number is 487

PART —> 48 80
TOTAL —> i 100
80n = 4800
n = 60

WRITE A PROPORTION AND SOLVE EACH OF THE FOLLOWING:

1, 20% of what number is 557
2. 29% of what number is 2327
3. 25% of what number is 58,5

4, 16% of what number is 5,757
5. 41 is 5% of what number?
6. Find a number such that 12,5% of 1t is 26,25,
7. 60% of what number is 817
8. 27 is 150% of what number?
9, 2 15 84 of a number, Find the number,
10, 65% of what number is 13007
11, 20% of what number is 3?
12, 0.2%8 of what npmbef 18 87
13, Vlsfldf whst number,is'9?

14, Find a nﬁhﬁer such that 3% of it i1s 2,7,



PERCENT PROBLEMS

Write a prcportion and solve each of the following:

- How many

A real estate salesman received $2415 for selling
a house, His commission 1s 7% of the cost of the
house., What did the house cost?

Last week 28 surgical cases were admitted to

" a mid-west hospital., This was 40% of the total

number of patients admitted, How many patients
were admitted?

Sam has 147 mystery books in his paper-back book
collection, This is 70% of his total collectlon,
How many books are in his collection?

Thirty-five percent of the families in Hill%op
Mobile Park have dogs, There are 14 dogs as
pets in the Mobile Park. How many families live
there?

About 60% of the human body weight 1s water,
About 72 pounds of water would be in what
weight person?

A refrigerator is on sale for $375 and 1s
advertised as being 12% off the regular price,
What was its regular price?

How much money must you invest at 6% interest
to have an income of $3000 each year?

Thirty-five of the members of the Sailing Club

want to cbmgete in an out of town event, This

is only 46 3$’or the total club membership,
 members does the club have?




" ALL THREE TYPE3 OF PERCENT PROBLEMS

Read carefully then write a proportion and solve,

Type l-Percent not knoiﬁ] | Type 2 -Part not known

iType 3 - Total not known

PART PART %

TOTAL  TOTAL 100%
1. What percent of 15 is 37 9. - 50% of what number is 107
2, 75% of 84 ’> what number?' 10, What percent of 12 ig 8?7
3. What percent of 32 is 28? 11, 50% of what number is 107
4, 80% of what number is 647 lég What percent of 12 is 47
5. 32% of 15 is what number? 13. 40% of what number is 1507
6. What percent of 50 is 257 14, 33% % of 551 18 what number?
7. 25% of 24 is what number? 15, What percent of 280 is ?7?
8., What percent of 24 is 187 16, What percent of 12 is 0,37

Write a proporticn and solve,
17. There are 12,000 people in lLake City. Abont 38% of tham are
under the age of 18, How many are under the age of 187
38% of 12,000 is what number?

18, There were 50 problems on the math test., John worked 46
of the problems correctly, What pereent 4id he work correetly?

What percent of 50 1s 467

19, Jane has read 60% of her text book. She has read 135 paxes.
How many Pages are in the dook?

60% of what number is 1457




PERCENTS LESS THAN 1%

WHEN A PART OF SOMETHiNG IS VERY SMALL
COMPARED TO THE TOTAL, THE PART MAY BE
LESS THAN 1 GUT OF 100,

EXAMPLE s
IN A TOWN OF 2800 PEOPLE 14 WORK IN THE TOWN HALL.,
WHAT PART OF 2800 IS 147
WHAT PERCENT OF 2800 1s 147
PART —> 14 n
TOTAL —> 2800 100
2800 n = 1400
n -

.5 OR % OF 1%

WRITE A PROPORTION AND SOLVE "EACH OF THE FOLLOWING:

What percent of 5000 is 57
Ten is .25% of what number?
What number if .3 of 1% of 9000?
What percent of 1000 is 77

Two is what percent of 4007

[« NN, B - S S 2

Six is .1% of what number?

~J

If only one-tenth of one percent of the chances
in a recent lottery paid any money, how many of
8000 received any money?

8. The total budget of $287,874 was proposed by a small
town. Office supplies made up $1439.37 of this amount.
What percent of the total budget was for office
supplies?




PROBLEM SOLVING WITH PERCENT

Write a proportion and solve each of the following:
(Additional problems may be found in Interest Areas booklets.)

1. The town of Harperville has 18,350 registered

voters. In the last election 827, voted. How
many voters voted?

2. One year the Fdrestry Department planted 7520
trees. Only 5640 of the trees survived. What
percent of the total trees were lost?

3. The price of bread is 120% of the price a year
ago. A loaf cost 45 cents a year ago. How much
does the same loaf cost now?

4. Two cities together bought a large piece of land
for a park. One city paid $370,320 which was
iO% of the cost. What was the total cost of the

and?

5. One season a hockey team scored a total of 160
points. 55% of the points were scored in the last
half of games. How many points were scored in the
last halt of the games?

6. A salesman's commission on a $120 is $7.20.
What is his rate of commission?

7. John and Charlotte had dinner in a local restaurant.
The bill for the meal was $12.80 plus a 3% tax.
How much was the tax?

8. 1If John (problem 7) wanted to leave a tip of about
15%, how much should he leave?

9. A station wagon that usually costs $5800 is marked
down to $4,640. What is the percent of discount?

o 20

10. On a recent test one student had a score of 6634.
This represented 52 correct answers. :
How many questions were on the test?




. ‘ PERCENT

ANSWER KEY
Percent
1. 20% 10. 75% 1. 40 . 408 80 _
2. 354 11. 60% }gﬁ 40 8. }gﬁ 80%
5. 10% 12. 50% . = _
4. 25% 13, 80% : %5 15% 9. Top = 12%
5. 70% © 14. 40% . _ 40
6. 80% 15. 70% 3+ —qop = 7% 10. To0 - 40%
7. 57% 16. 50% 4. 70 17, 150
8. 50% 17. 40% . = 70% +- o0 = 150%
9. 57% 18. 20% 52 110
o 5. = 52% 12. 1pp = 1108
2 So8 6. 37 3. B
2 308 . = 65% 13. 1oy = 45%
: . 8 68
g' ng . 7. 100 = 8% 14. 1075 = 68%
Percent is Part of 100 Decimais Mean Part of a Total
80 _ 1. 42% 8. 10%
1. ygp = 80% g- gg% 2. 56% 9. 89% -
) 65 10 1% 3. 23% 10. 15%
- 155 = 65% 19 4. 92% 11. 1%
1 11. 96% :
3. 6% 12. 42% o, 788 15 s
4. 378 13. 23% 7. 6% TI
< 178 14. 69% : T
g. %2 Write Percents as Decimals
39 7 | 0.65, 0.48, 0.17
1. 356 10- 150 1. 0.32 .6 0.8  11. 0.10
;3 ;1. 20 -1 2. 0.79 7. 0.14 12. 0.39
100 1o 00 % 3. 0.56 8. 0.29 13. 0.77
81 2. 3 4. 0.92 9. 0.06 14. 0.03
. 8 © 100 5. 0.37  10. 0.68 15. 0.01
4, 26 -4 13 8= ;7 28 e .28
* 100 7% 85 * 25 100 : :
s, 12 .3 142z %% 5. 18 90 g0s (.90
B AT T o
6. * 100 4. 3 75 $  0.75 .
ESU e > 5 75%  0.75
- . 42 84
7. 1_.9.6 = "1'6640 2 5. 5 Top 84r 0.84
8. 17. =¥ 4 80
1.-2-6 o . 15-8.0- i 6. -i-7 %-csm- 80% 0.80
: = 1 . —— .
1. 50% 9. 354 8. %g. %%U 92%  0.92
2. 308 10. 80% : 40
3. 60% 11. 20% 0. & 1oy 403  0.40
5. 25% 13. 60% 10. 30 0.30
6. 4% 14, 70% » §3’ }gﬁ
t §; 16% 15. 32% 11. ¥ 1oy 60%  0.60

. 308 16. 55%
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Using Ratios el

Part 1 EZpe I
1. 60, 60% ' . 1. %

6. 20%
2. 60, 60% f 2. 25% 7. 30%
3. 70, 70% 3. 25% 8. 25%
4, 68, 68% 4, 25% 9. 43%
5. 74, 74% 5. 90%
ParthI Prob
1 o Type I Percent lems
700 4% | 1. 143 5. 83ls
2. 80% : _ 2. 75% 6' iy
7 3. 80% .
3 T0> 14% 4. 25% 7. 80%
4, 40% ' IT
Part 111 %228
1. 41 . . 7. 13.3
2. .33 2. 276.48 8. 321
3. 45 3. 3.4 9. 1.2
4, 271 10. $24.50
Ratios § Hundredths 5. 1355 11. $100
6. 6.44 12. $3080
1. 25 6. 8 .
2.. 55 7. 80 e II Percent Problems
3. 70 8. 68 . 2.50 5. 3.51
4. 75 9. 95 2. 123.4 items 6. $57.75
5. 36 10. 60 3. 72 car owner 7. $287.50
4. 60 right 8. 0.27 oz.
Solving Proportions . . . N
£ S TOPO ;zge II1
2. 6 6. 1 . 8. 18
3. 45, 9 7. 1 2. 800 9. 25
4. 63, 21 8. 256 3. 274 10. 2000
5. 3 9. 13 4. 36 11. 15
10. 3 5. 820 12. 4000
' 6. 210 13. 60
Percents Greater than 100% 7. 135 14. 90
225, 225% e II1 Percent Problems
1. 240, 240%  11. 95% . $34,500 5. 120 1bs.
2. 126, 126% 12. 206% 2. 70 patients 6. $427.27 .
3. 307, 307%  13. 304% 3. 210 books 7. $50,000.
4. 150, 150% 14. 108% 4. 40 families 8. 75 members
5. 175, 175% 15. 100% ‘
6. 420, 420% 16. 325% . All Three Types
7. 180% 17. 748% 1, 20% 4. 80 7.
8. 27t% 18.  168% 2. 63 5. 4.8 8.
9. 395% 19. 550% 3. sz% 6. 50% 9.

10, 350% 20. 185%

21. 206% 10. 66%.% 13 400 16.

Ee . ‘ ' 14, 187 17.

- Percents less than 1% 11. 201 15. 2.5% 18.
o : : ‘ , 12. 333% 19.
1. 0.3, 0.3% 4. 0.2, 0.2% :

- 2,=0.337, 0.337% 5. 0.4, 0.4%

-3..0.7, 0.7% 6. 0.03, 0.03%
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PAFulext provided by enc

Percents Less than 1%

1. 0.1% -5,
2. 4,000 6.
3. 27 7.
4. 0.7% 8.

0.5%
6000
8
0.5%

" Problem Solving With Percent

. 15,047 voted
25%

54¢
$925,800

88 pts.

-

U1 GRS R

6.
7.
8.
9.
10.

6%

$.38

$1.92

20%

78 questions
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